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QUESTION 1

You are designing a solution for a customer who wants to optimize network performance for their iISCSI environment of
20 Microsoft SQL servers on their Hitachi NAS Platform. Which three actions do you suggest to the customer? (Choose
three.)

A. Create a private VLAN between the Microsoft SQL server and the Hitachi NAS Platform.

B. Create a LAG on the Hitachi NAS platform using all available interfaces.

C. Use the latest open source iSCSI initiator in the Microsoft SQL server.

D. Use the spanning tree protocol.

E. Add multiple network interfaces to their Microsoft SQL server and use MPIO.

Correct Answer: ABE

QUESTION 2

A customer is planning to implement active-active SyncDR with a Hitachi NAS Platform across two sites. What is the
maximum supported distance?

A. 10 km
B. 25 km
C. 62 km
D. 100 km

Correct Answer: D

QUESTION 3

You are designing a Hitachi NAS Platform solution for a customer who wants to use user mapping between their
Windows and UNIX environments. The user names in each environment do not match, and you need to use the
customer\\'s existing LDAP or NIS services. What are three supported schema options to perform automatic mapping?
(Choose three.)

A. /etc/users

B. RFC-2307

C.sfu

D. dfs
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E.imu

Correct Answer: BCE

QUESTION 4

A customer plans to implement a four-node Hitachi NAS Platform 4000 cluster to replace their Linux
clusters. To improve read response times, they want to have multiple copies of their files on different
nodes in the cluster.

Which Hitachi NAS Platform feature will satisfy this requirement?

A. Cluster Read Cache

B. Cluster Write Cache

C. Data Migrator

D. Dynamic Read Balancing (DRB)

Correct Answer: A

QUESTION 5

You are architecting a Hitachi NAS Platform 4000 solution for a new customer, and they ask about initial
storage pool creation and future expansions.

What are two HDS best practices? (Choose two.)

A. Four SDs are recommended in a new storage pool.

B. Two SDs are recommended in a new storage pool.

C. If an initial storage pool was created with 2 SDs, the expansion would be 4 SDs.

D. If an initial storage pool was created with 4 SDs, the expansion would be 4 SDs.

Correct Answer: AD

QUESTION 6

A customer would like to implement an OLTP application using their Hitachi NAS Platform 4000. The Hitachi NAS
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Platform is connected to a Hitachi HUS 150 with SAS drives running firmware 0935/A or later. They want to achieve
maximum performance. Considering the queue depth limitations on the Hitachi NAS Platform and Hitachi HUS 100
systems, what is the maximum number of active LUNSs that should be assigned on each HUS target port?

A. 16

B. 32

C.64

D. 128

Correct Answer: B

QUESTION 7

A customer requires a VSP asynchronous replication solution for their Hitachi NAS Platform 4000. They
have two data centers that are over 500 km apart. They are concerned with intermittent network
connectivity problems and would like to leverage disk-based journaling.

Which block-based replication should be used?

A. Hitachi Shadowlmage

B. Hitachi TrueCopy

C. Hitachi Universal Replicator

D. Hitachi TrueCopy Extended Distance

Correct Answer: C

QUESTION 8

You are designing a solution for a customer who has the following requirements for their NAS environment:
-Synchronous replication for all their filesystems -Automated failover -Stretched cluster at a distance of 50 km Which
solution should you recommend?

A. File Replication

B. SyncDR

C. Hitachi Universal Replicator

D. Object Replication

Correct Answer: B
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QUESTION 9

To increase resilience and maintain performance a customer wants to upgrade their Hitachi NAS Platform
two-node cluster to a three-node cluster.

What are two prerequisites? (Choose two.)

A. An additional cluster license is needed.

B. A NVRAM upgrade for mirroring must be performed.

C. 10 GbE switches are required for the cluster interconnect.

D. The 10 GbE cluster interconnect media must be single mode fiber.

Correct Answer: AC

QUESTION 10

A customer with a Hitachi NAS Platform wants to use a Hitachi VSP storage system. You need to gather information
about the VSP and which storage is available. Which tool should you use to review this information?

A. Hitachi Device Manager

B. Hitachi Storage Navigator Modular 2
C. Hitachi Cluster Manager

D. Hitachi VSP manager

Correct Answer: A
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